Exh	ibit 25-R ATP Non-Infrastructure Project Wo								
Fill in the following items:									
Date: (1)	2-May-22								
Implementing Agency Name: (2)	Lompoc, City of								
Project Number: (3)									
Project Location(s): (4a)	City of Lompoc, California								
" " (41	City of Lompoc, California - Lompoc High School								
" " (4c) City of Lompoc, California - Lompoc Valley Middle School									
" " (4d) City of Lompoc, California - Hapgood Elementary School									
,	City of Lompoc, California - Clarence Ruth Elementary School								
Project Description: (5)	Construct sidewalk, curb ramps, & lighting. Install 5 ladder subulb-outs, 2 with RRFB's. Provide education & encouragements safety & convenience	-			;				
Enter information in each Task T	ab, as it applies (Task A, Task B, Task C, Task C, etc.)								
For Department use only	ollowing items. Items will auto-populate once you've entered all "Tasl	k" tabs 1	that applies	s:					
For Department use only		k" tabs 1	that applies	s:					
For Department use only You will not be able to fill in the f Click the links below to navigate to	ollowing items. Items will auto-populate once you've entered all "Tasl		that applies		n-ATP Cost				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs:	Task Name Walk with a Community Leader Program			No	n-ATP Cost				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program	AT	P Cost	No	n-ATP Cost - -				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS	* AT \$ \$ 2	P Cost 54,625.78 211,180.00	No \$	-				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program	* * 2 * 1	P Cost 54,625.78 211,180.00	No \$	- - -				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "D" Task "D"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects	* AT	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 82,492.70	No \$ \$ \$ \$ \$ \$	1,600.00				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "D" Task "E" Task "E"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects Community Workshops, Outreach, & Surveying	\$ 2 \$ 1 \$ 1	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 182,492.70 92,865.60	No \$ \$ \$ \$	1,600.00				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "C" Task "E" Task "E" Task "F" Task "F"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects	\$ 2 \$ 1 \$ \$ 1 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 82,492.70	No \$ \$ \$ \$ \$ \$ \$ \$	1,600.00				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "C" Task "D" Task "E" Task "F" Task "F" Task "G"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects Community Workshops, Outreach, & Surveying	***	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 182,492.70 92,865.60	* * * * * * * * * * * * * * * * * * *	- - 1,600.00 54,000.00				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "C" Task "C" Task "F" Task "F" Task "F" Task "F" Task "G" Task "H" Task "H"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects Community Workshops, Outreach, & Surveying	\$ 2 \$ 1 \$ 5 \$ 1	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 182,492.70 92,865.60	No \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - 1,600.00 54,000.00				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "C" Task "D" Task "E" Task "F" Task "F" Task "G"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects Community Workshops, Outreach, & Surveying Pedestrian Safety Community Training Classes	\$ 2 \$ 1 \$ 1 \$ 5 \$ 5 \$ 5	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 82,492.70 92,865.60 29,097.00	* * * * * * * * * * * * * * * * * * *	- - 1,600.00 54,000.00				
For Department use only You will not be able to fill in the f Click the links below to navigate to "Task Details" tabs: Task Task "A" Task "B" Task "C" Task "C" Task "C" Task "F" Task "F" Task "F" Task "F" Task "G" Task "H" Task "H"	Task Summary: Task Name Walk with a Community Leader Program SRTS Peace Builder Walking School Bus Program SRTS Restorative Justice Program at LVMS Youth Led PSA Program National Night Out (NNO) Demonstration Projects Community Workshops, Outreach, & Surveying	\$ 2 \$ 1 \$ 1 \$ 5 \$ 5 \$ 5 \$ 5	P Cost 54,625.78 211,180.00 19,560.00 16,921.20 182,492.70 92,865.60	No \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	- - 1,600.00 54,000.00				

				TASK "A"	DETAIL				
Та	isk Name (5a):	Walk with a	Community Leader Program						
Task \$	Summary (5b):		ety in the community and communic develop relationships between the		•				e developed to encourage
	Start Date	End Date	Task Ac	tivities (6a):				Deliverables (6b):	sneets, warvers, priotos,
1.	Sep-23	Aug-24	Coordinate 2 walks v	vith community leader	s			nost event survey	
2.	Sep-24	Aug-25	Coordinate 4 walks	with community leader	s			ıp sheets, Waivers, pho	
3.	Sep-25	Aug-26	Coordinate 4 walks	with community leader	s	Promotional s	sign u	ıp sheets, Waivers, pho	tos, post event survey
4.									
5.									
6.									
7.									
8.									
9.									
10.					. =				
				Staff Cos	sts (7):	1			
	S	Staff Time (A	gency) (7a):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour		ATP Total \$	Non-ATP Total \$
Party 1 -	Lompoc F	Police Departm	nent Community Service Personnel	ATP	40	\$150.00	\$	6,000.00	
Party 2 -									
Party 3 -									
Party 4 -									
Party 5 -									
Party 6 -									
					Sı	ubtotal Agency Costs:	\$	6,000.00	\$ -
	Sta	aff Time (Co	nsultant) (7b):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour		ATP Total \$	Non-ATP Total \$
Party 1 -		Bilingual No	on-Profit Program Staff	ATP	468	\$32.96	\$	15,425.28	
Party 2 -			rofit Director Staff	ATP	150	\$58.02	\$	8,703.00	
Party 3 -		Bilingua	l Promotores Staff	ATP	270	\$28.75	\$	7,762.50	
,				L	Subto	otal Consultant Costs:	_	31,890.78	\$ -
				Total Sta	aff Costs (Agency	y & Consultant) (7c):	\$	37,890.78	\$ -
				Indirect C	osts (8)				
Approve	d ICAP (8a)?		If Approved I	CAP box is checked, p	rovide Rate (8b):		l	ATP Indirect Costs (8c):	
. фр. с с с	u 1072 (04).			Task Not	. ,			ATT munect costs (cc).	
Solid Waste community w of Lompoc h and RFQ pro	Department (or d valks when crossi as collaborated a ocess for this pos	esignated repre ng streets and r nd partnered wi ition, and feels i	ion, this program is new to the Lompoc Valli sentative). Building these relationships will navigating current incomplete infrastructure. th this agency for over a decade to facilitate t is in the public's best interest to consult wi palth workers in the Lompoc Valley who con	ey. Ten walks will include fa be key to the sustainability The identified non-profit, (I and host community healt th the LVCHO to implemen	acetime with local leand continuation of LVCHO) is the only h initiatives that invet tATP health, safety	advocacy from disadvar Lompoc serving commu est in policy, systems and and education programi	ntaged inity he d envir ing. Th	I neighborhoods. PD will prove ealth promotion focused local ronmental changes. The City ne Promotores partner regular	ide save crossing during agency and non-profit. The City of Lompoc is unable to conduct ly with both the City of Lompoc
				Other Cos	ets (10):				
You will	not be able to f	ill in the follo	wing items. The totals for each "Othe		, ,	omatically calculate	from i	information entered in th	e itemized other costs tab:
								ATP Total \$	Non-ATP Total \$
	Т	o fill out an it	emized cost for each "Other Cost",			Travel (10a):	\$	-	\$ -
			click below:			Equipment (10b):	\$	4,195.00	\$ -
					Sup	oplies/Materials (10c):	\$	4,050.00	\$ -
	Itemiz	zed "Other C	osts" Section			Incentives (10d):	\$	1,050.00	\$ -
					Oth	er Direct Costs (10e):	\$	7,440.00	\$ -
					Oth	ner Direct Costs (10f):	\$	-	\$ -
					Tota	I Other Costs (10g):	\$	16,735.00	\$ -
					TASK	GRAND TOTAL (11):	\$	54,625.78	\$ -

		Task "A" Other					
		Itemized Travel Co					
	Please provide an	itemized "travel" cost estimate for	all travel costs ap	olicable to thi	s task		
		Travel (10a)					
Тур	of Travel	(select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total S
1.							
2.							
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
•					Total:	\$ -	\$ -
				Tota	I Travel Cost:	s	-

	Itemized Equip	oment Cost (10b)				
	Please provide an itemized "equipment" cost est		applicable t	o this task		
	Equipm	nent (10b)				
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Staff and participant safety gear, program owned safety vests	ATP	150	26.00	\$ 3,900.00	
2.	Staff and participant safety gear, stop sign paddles	ATP	4	55.00	\$ 220.00	
3.	Staff and participant safety gear, first aid kits	ATP	3	25.00	\$ 75.00	
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
		·		Total:	\$ 4,195.00	\$ -
			Total Eq	uipment Cost:	\$	4,195.00

	Please provide an itemized "supplies/materials" cost estimate Please provide an itemized "supplies/materials" cost estimate for					task
	Please provide an itemized "supplies/materials" cost estimate for Supplies/Materials		ais cost app	licable to this to	BSK	
	Type of Supplies/Materials	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Evaluation material printing: registration, waiver, surveys, walking maps and talley sheets	ATP	3000	0.25	\$ 750.00	
2.	Printing of event promotion flyers and safety handouts	ATP	6000	0.50	\$ 3,000.00	
3.	Office supplies, pens/ pencils	ATP	150	1.00	\$ 150.00	
4.	Office supplies, clipboards	ATP	100	1.50	\$ 150.00	
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	\$ 4,050.00	\$ -
		Total	Supplies/M	laterials Cost:	\$	4,050.00

	Itemized Incent	ives Cost (10d)				
	Please provide an itemized "incentives" cost estim	ate for all incentives costs	applicable	to this task		•
	Incentive	es (10d)				
	Type of Incentives	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Healthy snacks and water	ATP	10	30.00	\$ 300.00	
2.	Reflective encouragement buttons received upon activity completion	ATP	500	1.50	\$ 750.00	
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.				-		
				Total		
			Total Inc	entives Cost	\$	1,050.00

	Itemized Other Direc					
	Please provide an itemized "other direct" cost estimat		pplicable to	this task		
	Other Direct Costs	i (10e)				
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Design cost for customising existing materials and creating updated materials annually	ATP	60	75.00	\$ 4,500.00	
2.	Spanish Translation for marketing, evaluation, outreach and educational materials	ATP	36	40.00	\$ 1,440.00	
3.	Media Costs for social media and radio advertisement	ATP	20	75.00	\$ 1,500.00	
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	\$ 7,440.00	\$ -
			Total Othe	er Direct Cost:	\$	7,440.00

•		Other Direct Costs (10f)	·	•		
Please	provide an itemized "other direc	t" cost estimate for all other costs a	pplicable to	this task		
	Ott	ner Direct Costs (10f)				
Type of Other	r Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	\$ -	s -
			Total Othe	r Direct Cost:	\$	

		T			'B" DETAIL			
Task	Name (5a):		Builder Walking School		nrogram to	and from ook	nool will provide for sup	antician of students
Task St	ımmary (5b):		g adult presence v		s program to	o and nom scr	iooi wiii provide ioi sup	bervision of students
		and a ser	ise of security for s	students.				
	Start Date	End Date		Activities (6a):			Deliverables (6b):	
1.	9/1/2023	8/31/2024	Train Peace Builders	. ,	Bus		iteers receive training mater	·
2.	9/1/2024	8/31/2025	Train Peace Builders				iteers receive training mater	
3.	9/1/2025	8/31/2026	Train Peace Builders				iteers receive training mater	iais and completion
4.	9/1/2023	8/31/2024	4 schools/180 days:			Certificates Number of stude	ents participating daily with	observances
5.	9/1/2024	8/31/2025		, ,			ents participating daily with	
6.	9/1/2025	8/31/2026	4 schools/180 days:			1	ents participating daily with	
7.			,					
8.								
9.								
10.								
		•		Staff	Costs (7):	•		
	Staff T	ime (Agency) (7a):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	ATP Total \$	Non-ATP Total \$
Party 1 -	LUSD Pead	ce Builders 2 at	each of the 4 schools	ATP	5760	\$27.00	\$ 155,520.00	
Party 2 -	L	USD School So	ocial Worker	ATP	185	\$116.00	\$ 21,460.00	
Party 3 -								
Party 4 -								
Party 5 -								
Party 6 -								
					Subt	otal Agency Costs:	\$ 176,980.00	-
	Staff Tim	ne (Consulta	nt) (7b):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	ATP Total \$	Non-ATP Total \$
Party 1 -	1	Newark Collecti	ve Training	Non-ATP	20	\$0.00		\$ -
Party 2 -								
Party 3 -								
					Subtota	al Consultant Cost):	\$ -	\$ -
				Total Staff Co	osts (Agency &	Consultant) (7c):	\$ 176,980.00	-
				Indirec	t Costs (8)			
Approve	d ICAP (8a)?		If Approved ICA	P box is checked, pro	vide Rate (8b):		ATP Indirect Costs (8c):	
				Task	Notes (9):			
to School. N cross trainir annually for provide Saf	lewark Collective g with the Resto LUSD Peace Bu e Route To Scho	e will be providin rative Justice pr uilder Staff, alon ool both before a	g free training for the LUS rogram so they will be train g with other support staff a and after school in the form	D Peace Builders to crea ed to de-escalate situation nd interested School Site of walking school busse	te a walking sch ons, provide con e Safety Council s at all four scho	ool bus for the Lomp flict resolution and ar members, as well as ol sites. The Peace I	workers as Peace Builders, as the constance of Safe Routes to School. The Penadded layer of supervision. This is youth and parent volunteers. The Builders will increase safety of your provements outlined in this approvements outlined in this approvements.	eace Builders will also receive training will be conducted e trained Peace Builders will uth, and will provide
					Costs (10):			
You w	ill not be able	to fill in the fol	lowing items. The total		s" category lis ther costs tab:		omatically calculate from info	ermation entered in the
							ATP Total \$	Non-ATP Total \$
	To fill o		cost for each "Other Co	ost",				-
		clic	k below:			Equipment (10b):	\$ 1,320.00	-
					Suppli	ies/Materials (10c):	\$ 2,880.00	\$ -
	Itami	zed "Other C	Costs" Section			Incentives (10d):	\$ 18,000.00	
	ice iii.	Low Other C	Joseph Section			Direct Costs (10e):	\$ 12,000.00	·
						Direct Costs (10f):	\$ -	\$ -
						Other Costs (9g):		\$ -
					TASK GR	RAND TOTAL (10):	\$ 211,180.00	-

	Task "B" Other (
Please pro	vide an itemized "travel" cost estimate for a		licable to th	is task		
	Travel (10a)					
Type of Travel	ATP or Non-ATP (select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
- '			•	Total:	\$ -	s -
			Tota	Travel Cost:	\$	

	Itemized Equip	oment Cost (10b)					
	Please provide an itemized "equipment" cost est		applicable t	o this task			
	Equipn	nent (10b)	, ,				
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	AT	P Total \$	Non-ATP Total \$
1.	Safety Walkie Talkies for Peace Builders and volunteers	ATP	16	50.00	\$	800.00	
2.	Staff safety gear, vests	ATP	20	26.00	\$	520.00	
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
				Total:	Ψ	1,320.00	
			Total Equi	ipment Cost:	\$		1,320.00

	Please provide an itemized "supplies/materials" cost estimat	e for all supplies/materia	als cost appl	icable to this t	task	
	Supplies/Materi	ials (10c)				
	Type of Supplies/Materials	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Training materials for 16 participants annually and walking school bus guides	ATP	48	60.00	\$ 2,880.00	
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	\$ 2,880.00	\$ -
		Total S	upplies/Ma	terials Cost:	\$	2,880.00

	Itemized Incer	tives Cost (10d)				
	Please provide an itemized "incentives" cost esti	mate for all incentives costs	applicable t	o this task		
	Incenti	ves (10d)				
	Type of Incentives	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Walking school bus encouragement reflective buttons	ATP	12000	1.50	\$ 18,000.00	
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						, and the second
12.						
				Total:	+ .0,000.00	
			Total Ince	entives Cost:	S	18,000,00

	Please provide an itemized "other direct" cost estimate	for all other costs a	pplicable to	this task		
	Other Direct Costs	(10e)				
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total
1.	Biannual printing for parent walking school bus notification, information and education flyer	ATP	24000	0.50	\$ 12,000.00	
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						l
10.						
11.						
12.						
				Total:	\$ 12,000.00	\$ -

Itemized Of	ther Direct Costs (10f)				
Please provide an itemized "other direct"	cost estimate for all other costs a	pplicable to	this task		
Other	Direct Costs (10f)				
Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.					
2.					
3.					
4.					
5.					
6.					
7.					
8.					
9.					
10.					
11.					
12.					
•	*		Total:	s -	s -
		Total Other	Direct Cost:	\$	-

					K "C" DETAIL						
Т	ask Name (5a):	SRTS Resto	orative Justice Prog	ram at LVMS							
Task	Summary (5b):						dents to and from school, in eat incidents from occurring.	creasing safety for students.			
	Start Date	End Date	-	Task Activities (6a):			Deliverables (6b)				
1.	9/1/2023	8/31/2024		Peer-led mediation		10 student-le	ed mediations with mediation				
2.	9/1/2024	8/31/2025		Peer-led mediation			ed mediations with mediation	<u> </u>			
3.	9/1/2025	8/31/2026		Peer-led mediation		30 student-led mediations with mediation agreements completed					
4.	9/1/2023	8/31/2026	Annual Restorative	e Justice training for p	peer mediators Staff trained 10 peer mediators annually with completion cer						
5.	9/1/2023	8/31/2025	Restorative Justic	e training for LUSD S	Social Workers	2 Social Worl	kers receive cert. to host Re	storative Justice trainings			
6.	9/1/2025	8/31/2026	Restorative Justic	e training for LUSD S	Social Workers	2 Social Worl	kers receive cert. to host Re	storative Justice trainings			
7.	9/1/2023	8/31/2026	Restorative C	Justice training for sc	hool staff	Staff lead r	estorative trainings with com	pletion cert. for 30 staff			
8.	9/1/2024	8/31/2025	Restorative C	Justice training for sc	hool staff	Staff lead re	estorative trainings with com	pletion cert. for 30 staff			
9.	9/1/2025	8/31/2026	Restorative .	Justice training for sc	hool staff	Staff lead re	estorative trainings with com	pletion cert. for 30 staff			
10.	9/1/2023	8/31/2026	Restorative Ju	stice awareness for s	school staff	Survey 3	30 staff who participate in 2	annual free webinars			
				s	taff Costs (7):						
	Staff Tir	ne (Agency)	(7a):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	ATP Total \$	Non-ATP Total \$			
Party 1 -		School Social	Worker	ATP	680	\$116.00	\$ 78,880.00				
Party 2 -	Scho	ol Social Work	er Supervisor	ATP	124	\$150.00	\$ 18,600.00				
Party 3 -											
Party 4 -											
Party 5 -											
Party 6 -						<u> </u>					
				1	Subto	otal Agency Costs:	\$ 97,480.00	-			
	Staff Time	e (Consultar	it) (7b):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	ATP Total \$	Non-ATP Total \$			
Party 1 -											
Party 2 -											
Party 3 -								_			
				T-4-1 04-4		Consultant Costs:	\$ -	\$ -			
					ff Costs (Agency &	Consultant) (70):	\$ 97,480.00	-			
	11015 (0.)0				direct Costs (8)	ı		T			
Appro	ved ICAP (8a)?		If Approved	ICAP box is checked,	ask Notes (9):		ATP Indirect Costs (8c):				
justice traini Additionally, to intervene maintenanc	ng. The trainings Staff will have the in student conflice of a safe environ	are a three par ne opportunity to cts. All trained in nument both bet	t training. Having differen o engage in free webinars ndividuals will receive a bu	stitute for Restorative Pra t social workers trained a s twice a year to maintain utton upon completion of a additional hats to signify	actices train the traine annually will ensure so a aware and continue the trainings to signify when the individual	ustainability of the n education. Students fy to other students	to be able to train students, volur ew program, and possible implen s will be trained annually to be stu and staff that they have the skills t. The Restorative Justice program	nentation district wide. Ident mediators that will be able to aid in conflict resolution and			
V	mat ha -l-1- :	6111 1m Al 6-"	wine Home The test		her Costs (10):		Healty salaulate from the	Non-automod in the Messele			
You will	not be able to	iii in the follo	wing items. The totals		s" category listed b her costs tab:	eiow will automa	tically calculate from informa	tion entered in the itemized			
	•						ATP Total \$	Non-ATP Total \$			
	To fill ou		cost for each "Other C	ost",		Travel (10a):		\$ -			
		clicl	k below:			Equipment (10b):		\$ -			
					Suppli	es/Materials (10c):		\$ -			
	[Itemized '	'Other Costs" Secti	ion	<u> </u>	Incentives (10d):		\$ -			
				_		Direct Costs (10e):	· · · · · · · · · · · · · · · · · · ·	\$ -			
						Direct Costs (10f):	•	-			
						Other Costs (10g): AND TOTAL (11):		\$ - \$ -			
					IAGN GR	101AL (11).	\$ 119,560.00	-			

	Tasl	("C" Other	Costs:				
	Please provide an itemized "trave			licable to th	is task		
		Travel (10a)					
Type of Tr	avel	ATP or Non-ATP (select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total \$
1.							
2.							
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
•					Total:	\$ -	\$ -
				Total	Travel Cost:	\$	

	Itemized E	quipment Cost (10b)					
	Please provide an itemized "equipment" cos		s applicable	to this task			
	Ec	quipment (10b)					
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	ATI	P Total \$	Non-ATP Total \$
1.	Office supplies, pens/ pencils	ATP	150	1.00	\$	150.00	
2.	Office supplies, clipboards	ATP	30	1.50	\$	45.00	
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
				Total:		195.00	
	·	·	Total Equip	ment Cost:	\$		195.00

	Please provide an itemized "supplies/materials" cost e	stimate for all supplies/materia	ils costs app	licable to thi	s task			
	Supplies	s/Materials (10c)						
	Type of Supplies/Materials	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$		Non-ATP T	otal \$
1.	Restorative Justice materials for student trainings	ATP	30	60.00	\$	1,800.00		
2.	Restorative Justice materials for staff trainings	ATP	90	60.00	\$	5,400.00		
3.	Survey materials and mediation handouts	ATP	250	0.50	\$	125.00		
4.								
5.								
6.								
7.								
8.								
9.								
10.								
11.								
12.								
•				Total:	\$	7,325.00	\$	-
		Total Su	pplies/Mat	erials Cost:	\$		7,3	25.00

	Itemized Incentives Please provide an itemized "incentives" cost estimate f		applicable t	o this task			
	Incentives (1	0d)					
	Type of Incentives	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$		Non-ATP Total
1.	Hats to identify youth mediators on duty	ATP	75	26.00	\$	1,950.00	
2.	Healthy snacks for youth trainings	ATP	3	120.00	\$	360.00	
3.	Buttons to identify staff who have been trained and are attending awareness webinars	ATP	125	2.00	\$	250.00	
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
				Total:	\$	2,560.00	\$ -
			Total Incer	ntives Cost:	\$		2,560.0

	Please provide an itemized "other direct" cost estimate		pplicable to	this task			
	Other Direct Costs	(10e)					
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$		Non-ATP Total
1.	Social Worker International Institute for Restorative Practices (IIRP) virtual training for Educators	ATP	4	500.00	\$	2,000.00	
2.	Social Worker IRP Restorative Justice Conferencing Virtual Training	ATP	4	500.00	\$	2,000.00	
3.	Social Worker Train the Trainer - Restorative Practices Training	ATP	4	2,000.00	\$	8,000.00	
4.							
5.							
6.							
7.							
8.							
9.							
0.							
1.							
2.							
		•		Total:	\$	12,000.00	\$ -
		T	otal Other I	Direct Cost:	\$		12,000.0

	Itemized Other Dire	ect Costs (10f)				
P	lease provide an itemized "other direct" cost estim	ate for all other costs a	pplicable to	this task		
	Other Direct Co	sts (10f)				
Type of	Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
*		•		Total:	s -	s -
		T	otal Other	Direct Cost:	\$	

				=101				
		V4b-11-	00 A D	IASK	"D" DETAIL			
Та	ask Name (5a):	Youth Led F	SA Program					
Task	Summary (5b):	LUSD youth a	ges 13-18 will be engag	ed to create annual ped	lestrian safety PS/	A campaigns targe	ting their peers and families.	
7								
	Start Date	End Date		ask Activities (6a):			Deliverables (6b):	
1.	Sep-23	Aug-24		HS and create PSA	· ·		duce one youth led PSA and	
2.	Sep-24	Aug-25		HS and create PSA	· ·		uce three youth led PSA's a	
3.	Sep-25	Aug-26	Engage youth at I	HS and create PSA	competition	Produ	uce three youth led PSA's a	nd track reach
4.								
5.								
6.								
7.								
8.								
9. 10.								
10.				Ctof	Cooto (7):			
				Jian	f Costs (7):			
	Staff Ti	me (Agency)	(7a):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	ATP Total \$	Non-ATP Total \$
Party 1 -								
Party 2 -								
Party 3 -								
Party 4 -								
Party 5 -								
Party 6 -								
				I	Subto	otal Agency Costs:	-	\$ -
	Staff Tim	e (Consultan	(7b) :	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	ATP Total \$	Non-ATP Total \$
Party 1 -	Biling	gual Non-Profit	Program Staff	ATP	250	\$32.96	\$ 8,240.00	
Party 2 -		Non-Profit Dire	ctor Staff	ATP	60	\$58.02	\$ 3,481.20	
Party 3 -	E	Bilingual Promot	tores Staff	ATP	120	\$28.75	\$ 3,450.00	
						Consultant Costs:		\$ -
				Total Staff	Costs (Agency &	Consultant) (7c):	\$ 15,171.20	-
				Indire	ect Costs (8)			
Approv	ved ICAP (8a)?		If Approved IC	CAP box is checked, p	rovide Rate (8b):		ATP Indirect Costs (8c):	
					(Notes (9):			
							n in the two subsequent years.	
				•	•		s to record and create PSA proj will provide youth engagement	
			ogram, the Promotores				will provide youth engagement	and awareness on a
		•		•				
					Costs (10):			
ou will no	ot be able to fil	I in the following	ng items. The totals for		category listed be r costs tab:	elow will automati	cally calculate from informat	on entered in the itemized
				Other	COSIS IUD.		ATP Total \$	Non-ATP Total \$
	To fill o	ut an itemized	cost for each "Other C	ost",		Travel (10a):		\$ -
			k below:	•		Equipment (10b):	\$ -	\$ -
					Suppli	es/Materials (10c):	\$ -	\$ -
)		Incentives (10d):	\$ -	\$ 1,600.00
	Ite	mized "Othe	er Costs" Section	J	Other I	Direct Costs (10e):	\$ 1,750.00	\$ -
					Other	Direct Costs (10f):	\$ -	\$ -
					Total C	ther Costs (10g):	\$ 1,750.00	\$ 1,600.00
					TASK GR	AND TOTAL (11):	\$ 16 921 20	\$ 1,600,00

	Task "D" Other (
Please provide an i	temized "travel" cost estimate for a		olicable to th	is task		
	Travel (10a)					
Type of Travel	ATP or Non-ATP (select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
"				Total:	\$ -	\$ -
			Total	Travel Cost:	\$	

		uipment Cost (10b)				
	Please provide an itemized "equipment" cost of		applicable	to this task		
	Equ	ipment (10b)				
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	\$ -	s -
			Total Equip	ment Cost:	\$	

Itemized S	Supplies/Materials Cost (10c)							
Please provide an itemized "supplies/material	s" cost estimate for all supplies/materia	ils costs app	olicable to thi	s task				
	Supplies/Materials (10c)							
Type of Supplies/Materials	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$ Non-ATP Tot				
1.								
2.								
3.								
4.								
5.								
6.								
7.								
8.								
9.								
10.								
11.								
12.								
•	•		Total:	\$ -	s -			
	Total Su	pplies/Mat	erials Cost:	\$				

		centives Cost (10d)					
	Please provide an itemized "incentives" cost		applicable t	o this task			
	Ince	entives (10d)					
	Type of Incentives	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-	ATP Total
1.	Shoe donation for PSA participant winners	Non-ATP	32	50.00		\$	1,600.0
2.							
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
				Total:		\$	1,600.00
			Total Incer	ntives Cost:	\$		1,600.00

	er Direct Costs (10e)					
Please provide an itemized "other direct" of		pplicable to	this task			
Other I	Direct Costs (10e)					
Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	A'	TP Total \$	Non-ATP Total \$
Media costs for PSA distributions	ATP	7	250.00	\$	1,750.00	
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
	•		Total:	\$	1,750.00	\$ -
	T	otal Other	Direct Cost:	\$		1,750.00

Itemized Other Dire	-1.01- (4.05)				1
Please provide an itemized "other direct" cost estim		innlicable to	this task		
Other Direct Co		ррисавис то	tino taon		
Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.					
2.					
3.					
4.					
5.					
6.					
7.					
8.					
9.					
10. 11.					
11.					
12.					
•	•		Total:	\$ -	s -
	Т	otal Other	Direct Cost:	\$	

					"E" DETAIL				
Та	isk Name (5a):	National Ni	ght Out (NNO) Demo	nstration Projects				<u></u>	
Task S	Summary (5b):		ods safer, more caring d infrastructure impro		s will support th	hree NNO events	to demo	nstrate and will hig	hlight planned and
						•			
	Start Date	End Date		ask Activities (6a):	_			Deliverables (6b):	
1.	9/1/23	Aug-24		mplement August NN				surveys and partici	
2.	Sep-24	Aug-25		mplement August NN				surveys and partici	
3.	Sep-25	Aug-26	Plan & ii	mplement August NN	10	Event	waivers,	surveys and partici	pation numbers
4.									
5.									
6.									
7.						ļ			
8.									
9.						ļ			
10.									
				Staf	f Costs (7):				
	Staff Ti	me (Agency) (7a):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	А	Non-ATP Total \$	
Party 1 -	Lom	poc Police De	partment Staff	Non-ATP	360	\$150.00			\$ 54,000.00
Party 2 -	Lompoc Po	olice Departme	nt Day-of Street Staff	ATP	90	\$150.00	\$	13,500.00	
Party 3 -		City Suppo	rt Staff	ATP	150	\$139.63	\$	20,944.50	
Party 4 -									
Party 5 -									
Party 6 -									
					Subt	otal Agency Costs:	\$	34,444.50	\$ 54,000.00
	Staff Tim	e (Consulta	nt) (7b):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour	А	TP Total \$	Non-ATP Total \$
Party 1 -	Biling	gual Non-Profit	Program Staff	ATP	2,100	\$32.96	\$	69,216.00	
Party 2 -		Non-Profit Dire	ector Staff	ATP	360	\$58.02	\$	20,887.20	
Party 3 -	E	Bilingual Promo	tores Staff	ATP	900	\$28.75	\$	25,875.00	
					Subtota	Consultant Costs:	\$	115,978.20	\$ -
				Total Staff C	osts (Agency 8	Consultant) (7c):	\$	150,422.70	\$ 54,000.00
				Indire	ect Costs (8)				
Approv	red ICAP (8a)?		If Approved IC	AP box is checked, pr	ovide Rate (8b):		ATP	Indirect Costs (8c):	

NNO aims to enhances the relationship between neighbors and local leadership, especially law enforcement, to build a strong sense of community. This annual National event is hosted on the firs Tuesday in August, and will be implemented in Lompoc with the ATP non-profit partnership to act as a community demonstration project in the underserved areas receiving infrastructure and programing. Funding will ensure the event location is in an underserved area and that the demonstrations will show the proposed infrastructure changes and will highlight changes that have been completed at both LVMS and LHS. Lompoc Police will be donating all event planning and preparation time, along with day-of assistance. ATP will only be supporting the staff time for officers who are aiding with demonstrations taking place in the roadways. The Promotores Network staff will be providing both outreach and inreach to the neighborhoods experiencing the infrastructure improvements to promote event attendance and provide door to door bilingual education. Event Materials will be utilised from the program tasks, such as community safety vests, clipboards and paddle signs.

Task Notes (9):

	Other Costs (10):		
You will not be able to fill in the following items. The totals for each "Other Co		tically calculate from informa	tion entered in the itemized
	other costs tab:	ATP Total \$	Non-ATP Total \$
To fill out an itemized cost for each "Other Cost",	Travel (10a):		\$ -
click below:	Equipment (10b):	\$ 1,440.00	\$ -
	Supplies/Materials (10c):	\$ 4,350.00	\$ -
[Incentives (10d):	\$ 9,180.00	\$ -
Itemized "Other Costs" Section	Other Direct Costs (10e):	\$ 15,000.00	\$ -
	Other Direct Costs (10f):	\$ 2,100.00	\$ -
	Total Other Costs (10g):	\$ 32,070.00	\$ -
	TASK GRAND TOTAL (11):	\$ 182,492.70	\$ 54,000.00

	Task "E" Other O					
Please prov	ide an itemized "travel" cost estimate for a		licable to thi	s task		
,	Travel (10a)					
Type of Travel	ATP or Non-ATP (select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
*			•	Total:	\$ -	\$ -
			Total	Travel Cost:	\$	

	Itemized	Equipment Cost (10b)				
	Please provide an itemized "equipment" of		applicable t	to this task		
		Equipment (10b)				
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Event tents	ATP	3	150.00	\$ 450.00	
2.	Event traffic cones	ATP	30	25.00	\$ 750.00	
3.	Event tape	ATP	6	10.00	\$ 60.00	
4.	Event chalk	ATP	9	20.00	\$ 180.00	
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	Ψ 1,440.00	\$ -
		Total Su	pplies/Mat	erials Cost:	\$	1,440.00

	Please provide an itemized "supplies/materials" cost estimate fo	all supplies/material	s costs app	icable to this	s task		
	Supplies/Materials	(10c)					
	Type of Supplies/Materials	ATP or Non-ATP (select one)	Quantity	Cost \$	\$ ATP Total		Non-ATP Total
1.	Evaluation material printing: registration, waiver, surveys, walking maps and talley sheets	ATP	3600	0.25	\$	900.00	
2.	Printing of event promotion flyers and safety handouts	ATP	6000	0.50	\$	3,000.00	
3.	Office supplies, pens/ pencils	ATP	300	1.00	\$	300.00	
4.	Office supplies, clipboards	ATP	100	1.50	\$	150.00	
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
				Total:	\$	4,350.00	\$ -
		Total Su	pplies/Mate	erials Cost:	\$		4,350.0

	Itemized Incention						•
	Please provide an itemized "incentives" cost estima		applicable t	o this task			
	Incentives	s (10d)					
	Type of Incentives	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$		Non-ATP Total
1.	Reflective encouragement buttons	ATP	6000	1.50	\$	9,000.00	
2.	Healthy snacks and waters for volunteers and staff during the event	ATP	3	60.00	\$	180.00	
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
		·		Total:	\$	9,180.00	\$ -
			Total Incer	ntives Cost:	\$		9,180.00

	Itemized Other Direct	ct Costs (10e)						
***************************************	Please provide an itemized "other direct" cost estima		pplicable to	this task				
	Other Direct Cos	s (10e)						
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	A	TP Total \$	Non-	-ATP Total \$
1.	Every Door Direct event mailers and education	ATP	3	5,000.00	\$	15,000.00		
2.								
3.								
4.								
5.								
6.								
7.								
8.								
9.								
10.								
11.								
12.								
				Total:	\$	15,000.00	\$	-
		Т	otal Other	Direct Cost:	\$			15,000.00

	Please provide an itemized "other direct"	cost estimate for all other costs ap	pplicable to	this task				
	Other	r Direct Costs (10f)						
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ΑΊ	TP Total \$	Non-A	TP Total \$
1.	Media Costs	ATP	6	75.00	\$	450.00		
2.	Event Materials Graphic Design	ATP	8	75.00	\$	600.00		
3.	Event Venue Rental	ATP	3	350.00	\$	1,050.00		
4.								
5.								
6.								
7.								
8.								
9.								
10.								
11.								
12.								
•		•		Total:	\$	2,100.00	\$	-
		T	otal Other I	Direct Cost:	\$			2,100.00

TASK "F" DETAIL Task Name (5a): Community Workshops, Outreach, & Surveying Non-profit staff and bilingual partners will host four community meetings and canvas the disadvantaged neighborhoods where infrastructure improvement Task Summary (5b) and walking school busses are to take place to provide direct education and information about the project, safety. Staff will vet marketing materials and survey the households about ongoing needs. Start Date End Date Task Activities (6a) Deliverables (6b): Planning, material creation, one community meeting Planning and community meeting sign-in sheets, survey data Sep-23 Aug-24 Two community meetings and material distribution Meeting sign-in sheet, survey data, number of engagements Sep-24 Aug-25 3. Sep-25 Aug-26 One community meeting and material distribution Meeting sign-in sheet, survey data, number of engagements 4. 5. 6. 8. 9 10 Staff Costs (7): ATP or Non-ATP Staff Rate Staff Time (Agency) (7a): ATP Total \$ Non-ATP Total \$ (select one) Hours Per Hour Party 1 -Party 2 -Party 3 -Party 4 -Party 5 -Party 6 -Subtotal Agency Costs: \$ ATP or Non-ATP Staff Rate Staff Time (Consultant) (7b): ATP Total \$ Non-ATP Total \$ (select one) Hours Per Hour Party 1 -Bilingual Non-Profit Program Staff ATP 480 \$32.96 15.820.80 Party 2 -Non-Profit Director Staff ATP 240 \$58.02 \$ 13,924.80 Party 3 -Bilingual Promotores Staff ATP 1.500 \$28.75 \$ 43,125.00 Subtotal Consultant Costs: \$ 72,870.60 Total Staff Costs (Agency & Consultant) (7c): 72,870.60 \$ Indirect Costs (8) Approved ICAP (8a)? If Approved ICAP box is checked, provide Rate (8b): ATP Indirect Costs (8c): Task Notes (9):

Non-profit staff and bilingual Promotores partners will canvas the disadvantaged neighborhoods where infrastructure improvements and walking school busses are to take place to provide direct education and information about the project, safety, and to survey the households about ongoing needs. Community meetings will be conducted in the vicinity of each school site to provide pedestrian safety information and promote other ATP events. The data gathered will support future improvements. The bilingual Promotores partners will vet all program marketing materials by pretesting them before distribution. Printed encouragement bookmarks will be used in all community programs as an incentive item after participation.

Oti	ner Costs (10):		
You will not be able to fill in the following items. The totals for each "Other C		omatically calculate from inf	ormation entered in the
itemize	d other costs tab:		
		ATP Total \$	Non-ATP Total \$
To fill out an itemized cost for each "Other Cost",	Travel (10a):	\$ -	\$ -
click below:	Equipment (10b):	\$ 1,075.00	\$ -
	Supplies/Materials (10c):	\$ 15,795.00	\$ -
Itemized "Other Costs" Section	Incentives (10d):	\$ 1,090.00	\$
iteliiized Other Oosta Section	Other Direct Costs (10e):	\$ 2,035.00	\$ -
	Other Direct Costs (10f):	\$ -	\$ -
	Total Other Costs (10g):	\$ 19,995.00	\$ -
	TASK GRAND TOTAL (11):	\$ 92,865.60	\$ -

		Task "F" Other O					
H	Please provide an itemi.	zed "travel" cost estimate for a		licable to this	s task		
		Travel (10a)					
	Type of Travel	ATP or Non-ATP (select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total \$
1.							
2.							
3.							
4.							
5.							
6.							
7.							
8.							
9.							
10.							
11.							
12.							
	*			•	Total:	\$ -	\$ -
				Total	Travel Cost:	\$	

		uipment Cost (10b)				
	Please provide an itemized "equipment" cost e		applicable to	this task		
	Equi	ipment (10b)				
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total
1.	Staff safety gear, program owned safety vests	ATP	30	26.00	\$ 780.00	
2.	Staff safety gear, stop sign paddles	ATP	4	55.00	\$ 220.00	
3.	Staff safety gear, first aid kits	ATP	3	25.00	\$ 75.00	
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.	·					
-	·			Total:	4 1,010.00	\$ -
			Total Equi	ipment Cost:	\$	1,075.0

	Please provide an itemized "supplies/materials" cost estimate fo	r all supplies/material	s costs appl	icable to this	task	
	Supplies/Materials	(10c)				
	Type of Supplies/Materials	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total
1.	Production of pedestrian encouragement information	ATP	15000	1.00	\$ 15,000.00	
2.	Evaluation material printing: registration, waiver, surveys, walking maps and talley sheets	ATP	3000	0.25	\$ 750.00	
3.	Office supplies, pens/ pencils	ATP	30	1.00	\$ 30.00	
4.	Office supplies, clipboards	ATP	10	1.50	\$ 15.00	
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
		•		Total:	\$ 15,795.00	\$ -
		Total S	iupplies/Ma	terials Cost:	s	15,795.00

	Itemized Incentive				,	,
	Please provide an itemized "incentives" cost estimate		applicable to	this task		
	Incentives	(10d)				
	Type of Incentives	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total
1.	Healthy snacks for community meetings	ATP	4	35.00	\$ 140.00	
2.	Printed bilingual bookmarks with pedestrian encouragement for participants	ATP	25000	0.04	\$ 950.00	
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.	<u> </u>					
12.	<u> </u>					
				Total:		
			Total Ince	ntives Cost:	\$	1,090.00

	Please provide an itemized "other direct" cost e	estimate for all other costs ap	plicable to t	his task		
	Other Direct	ct Costs (10e)				
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total
1.	Training room rental fee	ATP	4	40.00	\$ 160.00	
2.	Graphic design to customise existing material for Lompoc	ATP	25	75.00	\$ 1,875.00	
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total	\$ 2,035.00	s -

	Itemized (Other Direct Costs (10f)				
	Please provide an itemized "other direc	t" cost estimate for all other costs ap	plicable to t	his task		
	Oth	ner Direct Costs (10f)				
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.	·					
12.	·					
				Total:	\$ -	\$ -
			Total Other	Direct Cost:	\$	-

_		ln			"G" DETAIL				
Та	isk Name (5a):	Pedestrian S	Safety Community T	raining Classes					
Task S	Summary (5b):	Four bilingual	community pedestrian s	afety training classes w	ll be facilitated in th	ne disadvantaged r	neighbor	rhoods where infrastruc	ture improvements are beir
	Start Date	End Date	т	ask Activities (6a):				Deliverables (6b):	
1.	Sep-23	Aug-24		nunity pedestrian trai	ning class	S	Sian-in s	sheets and completion	on survey
2.	Sep-24	Aug-25		unity pedestrian train	•			sheets and complete	
3.	Sep-25	Aug-26		nunity pedestrian trai				sheets and complete	
4.	00p 20	7 tag 20	1.001.0110.001111	namy poucounan au	g eldee		, g	oneste una compicar	
5.									
6.									
7.									
8.									
9.									
10.									
				Staf	F Costs (7):				
	Staff Ti	me (Agency)	(7a):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour		ATP Total \$	Non-ATP Total \$
Party 1 -									
Party 2 -									
Party 3 -									
Party 4 -									
Party 5 -									
Party 6 -									
				T	Subto	otal Agency Costs:	\$	-	\$ -
	Staff Tim	e (Consultan	nt) (7b):	ATP or Non-ATP (select one)	Staff Hours	Rate Per Hour		ATP Total \$	Non-ATP Total \$
Party 1 -	Biling	gual Non-Profit	Program Staff	ATP	250	\$32.96	\$	8,240.00	
Party 2 -		Non-Profit Dire	ctor Staff	ATP	100	\$58.02	\$	5,802.00	
Party 3 -	E	Bilingual Promot	tores Staff	ATP	440	\$28.75	\$	12,650.00	
						Consultant Costs:	\$	26,692.00	\$ -
				Total Staff	Costs (Agency &	Consultant) (7c):	\$	26,692.00	\$ -
				Indire	ct Costs (8)				
Approv	red ICAP (8a)?		If Approved I	CAP box is checked, p	provide Rate (8b):		AT	P Indirect Costs (8c):	
					Notes (9):				
			our bilingual community				ty where	e infrastructure improve	ements are proposed.
surveys wii	i de collected a	it the end of the	training to guage compr	enension and interest ii	i luture engageme	nı.			
You will no	ot be able to fil	I in the followi	ng items. The totals fo	r each "Other Costs" (Costs (10): category listed be costs section:	low will automation	cally cal	Iculate from information	on entered in the itemized
								ATP Total \$	Non-ATP Total \$
	To fill ou	ut an itemized	cost for each "Other C	ost",		Travel (10a):	\$	-	\$ -
		clic	k below:			Equipment (10b):	\$	900.00	\$ -
					Suppli	es/Materials (10c):	\$	-	\$ -
		Itemized	"Other Costs" Sect	ion		Incentives (10d):	\$	140.00	\$ -
		Itemized	Jane 37313 3601		Other I	Direct Costs (10e):	\$	1,365.00	\$ -
					Other	Direct Costs (10f):	\$	-	\$ -
						ther Costs (10g):		2,405.00	\$ -
					TASK GR	AND TOTAL (11):	\$	29,097.00	\$ -

	Task "G" Other C					
Please provide	an itemized "travel" cost estimate for all		cable to this	task		
	Travel (10a)					
Type of Travel	ATP or Non-ATP (select one)	Quantity	Units	Cost \$	ATP Total \$	Non-ATP Total \$
1.						
2.						
3.						
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
<u>'</u>				Total:	\$ -	\$ -
			Total	Travel Cost:	\$	

	Itemized Equipment	Cost (10b)				
	Please provide an itemized "equipment" cost estimate for		applicable to	this task		
	Equipment (10b)) <u></u>				
	Type of Equipment	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$
1.	Evaluation material printing: registration, waiver, surveys, walking maps and talley sheets	ATP	1000	0.25	\$ 250.00	
2.	Printing of event promotion flyers and safety handouts	ATP	1000	0.50	\$ 500.00	
3.	Office supplies, pens/ pencils	ATP	150	1.00	\$ 150.00	
4.						
5.						
6.						
7.						
8.						
9.						
10.						
11.						
12.						
				Total:	9 000.00	
			Total Equip	pment Cost:	\$	900.00

r Non-ATP ect one) Qu	uantity	Cost \$	ATP Total \$	Non-ATP Total \$
	uantity	Cost \$	ATP Total \$	Non-ATP Total
		Total:	\$ -	\$ -
			Total:	Total: \$ - Total Supplies/Materials Cost: \$

Itemized Incentives Cost (10d) Please provide an itemized "incentives" cost estimate for all incentives costs applicable to this task									
									Incentives (10d)
Type of Incentives		ATP or Non-ATP (select one)	Quantity Cost \$		ATP Total \$	Non-ATP Total \$			
1.	Healthy snacks for community meetings	ATP	4	35.00	\$ 140.00				
2.									
3.									
4.									
5.									
6.									
7.									
8.									
9.									
10.									
11.									
12.	<u> </u>								
				Total:					
			Total Ince	ntives Cost:	\$	140.00			

	Iternized Other Direct Costs (10e) Please provide an itemized "other direct" cost estimate for all other costs applicable to this task								
Other Direct Costs (10e)									
Type of Other Direct Costs		ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$		Non-	ATP Total \$	
1.	Meeting Room Rental	ATP	4	60.00	\$	240.00			
2.	Graphic design to customise existing material for Lompoc	ATP	15	75.00	\$	1,125.00			
3.									
4.									
5.									
6.									
7.									
8.									
9.									
10.									
11.									
12.									
				Total:	\$	1,365.00	\$	-	
Total Other Direct Cost:								1,365.00	

	Itemized Ot	her Direct Costs (10f)						
	Please provide an itemized "other direct"	cost estimate for all other costs ap	plicable to tl	nis task				
	Other	Direct Costs (10f)						
	Type of Other Direct Costs	ATP or Non-ATP (select one)	Quantity	Cost \$	ATP Total \$	Non-ATP Total \$		
1.								
2.								
3.								
4.								
5.								
6.								
7.								
8.								
9.								
10.								
11.								
12.								
		•		Total:	\$ -	\$ -		
Total Other Direct Cost:					s -			